05596-05 HEZEHTHFN wLF, AlFrE

Rost] P i
frei

STAINLESS STEEL *j'%l’ :
T4 1.4401,
I
TFF BE RO ¢ S ME e D
BR:
HTRXRABRARFR , XEREHETRAFTIELEE], BEMIZEL
mi%its

BERBHTRNRYTHER  BERTARNMNEEE. B THENE
ML, SNARER  SENBTURRE—BHLTT. MN
HFERABLXEEEFS,

I RBETHRAHE : 2.4 Nm,

AR A8E
BHE : FABE

fEFHER :
NEHIEFE | FPAETITANCE , BIWITHI ). XENE283RARM
E. tBAINEEBREST.

NA :

- AETL

- HL T olk

- &R

-
-BHEERNEF
- B EAR

RE -

1. REEAFERZETO,
2. EEREXE,

3. FAREDHNENEE.

#HEE

LTEE | LUREENSRE (M4 MEETRERETEN.
XA ATBER R EREE 2 LA

ZEIENIRE (M5) REEEHRETBTER.

REET :

1) I14R

2) {5

3)IEF

4) BRETHE

5) RERESE (FBSNKHT)
6) Z&t10

© norelem www.norelem.com



05596-05 &S TN HILE, A B

gD “ § P o
- - = 5:\‘F T
-y x|
T 11 | S [
~ L1
§ =2 == /
Y I
3 £ | AT P [
i B2 L+15 \
lAz02|
D1+1,2 '
l
6)x\ /’\ 5=
ﬁ\\ *Uh r
1

© norelem www.norelem.com




05596-05 B EHFFM HILE, AHS

ATYER X |19]/60|32|54| 495 |50(4,5| 359 | 31,1 30,5 255 |14|33| 23
AHERN MK [19]60] 3254|495 |50 (4,5 359 | 311 4,5 30,5 255 (1433|125
APER TWHBA [19]60] 3254|495 (5045|359 |311|45|305 255 |14|33| 23
ATPER WHWIH |19/60|32 |54 | 49,5 |50(4,5| 359 | 31,1 |45 30,5 255 |14[33| 12,5
TABiE #X [19]60(32|54 | 495(50(4,5|359 | 31,1 45|305 255 |14|33| 23
TABIE WX 1960|3254 | 495 |50|45| 359|311 45|305 255 |14(33| 125
TAPIE WHMBIH |19(60]32|54| 495 |50(45] 359|311 [45|305 255 |14[33| 23
FA8iE WHBIA|[19(60] 32|54 49,5 [50|4,5]359 | 31,1 45| 305 255 |14|33] 12,5

05596-05-1102356044
05596-05-1112356044
05596-05-1102356055
05596-05-1112356055
05596-05-1002356044
05596-05-1012356044
05596-05-1002356055
05596-05-1012356055

W m® o> > > >

S=1HREE ,
B mm
05596-05-1102356044 41| 56 | 11| 8,6 850 100 - 2-12 M4x6
05596-05-1112356044 41| 56 | 11| 8,6 850 100 - 12-22 M4x20
05596-05-1102356055 41| 56 |11 8,6 850 100 - 2-12 M4x6
05596-05-1112356055 41| 56 | 11| 8,6 850 100 - 12-22 M4x20
05596-05-1002356044 41| 56 | 11| 8,6 850 100 - 2-12 M4x6
05596-05-1012356044 41| 56 | 11| 8,6 850 100 - 12-22 M4x20
05596-05-1002356055 41| 56 | 11| 8,6 850 100 - 2-12 M4x6
05596-05-1012356055 41| 56 |11 8,6 850 100 - 12-22 M4x20

© norelem www.norelem.com



